Transformations of Curves
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[image: image1.png]Figure 1 shows part of the curve with equation y = £(x). x < R, where fis an increasing
fanction of x. The curve passes through the points P(0, ~2) and O(3. 0) as shown.

In separate diagrams, sketch the curve with equation

@ y=lf@l.
&

® y=£7e.

&
© y=¥G).

&

Indicate clearly on each sketch the coordinates of the points at which the curve crosses or
‘meets the axes.
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[image: image2.png]£()=x*~4x-8.

(a) Show that there is a root of £() =0 in the interval [2, ~1]

&
(b) Find the coordinates of the turning point on the graph of y = £(x).

&
(©) Given that £(x) = (x— 2)(+ @+ bx +c), find the values of the constants, a, 5 and.c.

&
(d) Tnthe space provided on page 21, sketch the graph of y= £(x).

&

(&) Hence sketch the graph of y=|£(0)|
@
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[image: image3.png]5. The functions fand g are defined by

foxis InQx-1) xeR, x>%,

g xH%. xeR.x=3.
T

() Find the exact value of fg(4).
@

() Find the inverse fanction £ (x), stating its domain.
“@

(©) Sketch the graph of =] g(x)|. Indicate clearly the equation of the vertical asympote
and the coordinates of the point at which the graph crosses the y-axis.
®

(@ Find the exact values of x for which |2

€]
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[image: image4.png]4G4

Bes.~4)
Figure 1
Figure 1 shows a sketch of the curve with equation y = (x)
‘The curve passes tirough the origin O and the points A(5, 4) and B(-5, ~4).

In separate disgrams,sketch the gaph withequation
@ y=|f)].

© y=ri).
© y=2G+)

On each sketc, show the coordinates of the points cortesponding to 4 and B.

®

®

@
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[image: image5.png]Figure 1

Figure 1 shows the graph of y =£(x). 1<x<9.
‘The points 7(3, 5) and 5(7. 2) are tumming points on the graph.

Sketch, on separate diagrams, the graphs of
@ y=260)-4

© y=[Ee|

Indicate on each diagram the coordinates of any turning points on your sketch.

®

®
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[image: image7.png]5. Sketch the graph of y = In|x|, stating the coordinates of any points of intersection with the
axes.

3




[image: image8.png]Figure 1

Figure 1 shows a sketch of the graph of y = £(x)

‘The graph intersccts the y-axis &t the point (0, 1) and the point A2, 3) is the maximum
turming point.

Sketch, on separate axes, the graphs of

6] 0+ 1,
() =t 243,
(i) = 2026)

On each sketch, show the coordinates of the point at which your graph intersets the y-axis
and the coordinates of the point to which A is transformed.
o




